
 

 

 

 

 

7.0 kg 5.0 m/s  

 

5.0 N 2.0  

 

 

 

 

10 m/s 0.20 kg  

1.0 10−2 15 m/s  

 

 

10 m/s 0.20 kg  

1.0 10−2 10 m/s  

 

 

20 m/s 0.10 kg  

2.0 N s  

 

 

30 m/s 0.14 kg  

40 m/s 5.0 10−3  

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

1.0 kg A 6.0 m/s 2.0 kg B  

A B  

 

3.0 m/s 4.0 kg A 2.0 m/s  

2.0 kg B B 2.0 m/s  

A  

 

2.0 m/s 0.10 kg A  

2.0 m/s 0.20 kg B A 2.0 m/s  

B  

 

 𝑉  𝑀 A  𝑣  

 𝑚 B A B  

 

 

A B  

 

 𝑚  𝑀  

 𝑉  

 

𝑥 15 m/s 5.0 kg A B 2  

A 3.0 kg  𝑥 17 m/s 𝑦 6.0 m/s  

B  

 

 

 

 

 

 

 

 

 

 

𝑦 

𝑥 

A 

B 



 

 

 

 

0.50  

3.0 m/s  

 

4.0 m/s A 2.0 m/s  

B A B 0.50 B 2.0 m/s 

A  

 

3.0 m/s 3.0 kg A 2.0 m/s 

2.0 kg B A B 0.70  

A B  

 

2 A B B A  𝑣  

A B A B  

 

 𝑒  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑉𝑥 

𝑉𝑦 

60  

30  


